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L. Let T be the triangle with vertices (0, 0), (1, 0), and (0, 1). Find

//e%ﬁdA*

1 1
2. Let A= / e dt, B = /2 e~ dt. Find C= such that
0 0
1 T 2 1
/ / eV dyde=A~=B+C.
J-3Jo 2
3
3. Find the maximum value of the function T'(z,y) = 2%~ 2y° — x
on the region A = {(z,y)|z* +y? < 1}.
. 2 —~4x-+6 if z is rational,
4. Let f(z) = ,
/(@) {:133 —6z% + 122 ~ 6 if & is irrational.

Find % = such that f'(zq) exists.

5. Let g be & differentiable real-valued function satisfied

2z 2z
(/ g(t) dt) sinz + cosz? =  + exp </ g(t) dt)
0 0

for all  near 0. Find ¢/(0) =

6. Two holes of radius 6 are drilled through the center of a sphere of radius

10. Assume that their axes meet at right angles. Find the volume of
the solid remaining

\/1+u

7. U Pz / F(t) dt, where f{ z)~ du, find F"(2) =
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' 1. Show that the function defined by

is not equal to its Maclaurin series.

2. Let a and b be positive-numbers with a > b. Ll;at a3 be their arithmetic
mean and b; their geometics mean: a; = atb by = Vab. Repeat this
On + by,

— but1 = Vanh, for n > 1.
Show that both {a,} and {b,} are convergent and hm a, = lim b,.

n—00

process so that, in general, apyy =




